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B3 18 60.96% LR 21 X 95.89%
mARR 10 91.09% SHE 16 94.16%
HER 16 89.06% ERE 14 89.88%
BER 28 93.17% fE] L 22 89.13%
FERE 9 93.50% IN=T 20 94.64%
FEJNN] 4 98.16% Wng 16 88.70%
HRE 5 75.63% =T 19 93.89%
fBHER 2 89.80% FIE 15 85.54%
KR 4 93.39% ZRE 20 93.70%
EHE 31 93.14% =R 26 96.11%
Iz 2 15 10 96.10% fa R 2 47 93.58%
FhiE IR 10 98.34% EEE 5 93.71%
ZHE 5 97.83% RIFE 2 100.00%
=E8 20 92.87% RERAR 19 89.37%
HEE 17 98.23% KHE 14 83.38%
REBAT 20 X 96.58% =y 11=} 11 67.44%
KB fF 8 99.56% EREE 14 87.81%
EER 39 97.43%
£ EEt 583 93.27%
=HE 26 % 94.96%
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